EAGRAROBREERT — 2 N— ABISH —F 2020528230 (H) 1E/)hE128

PR mE LR 28752 YIR4KE (RE) [EE] N7 B e
[x&<£] 1 % :15,000,000 § 2 # :6,000,000 3 7 :3,800,000 @ .~ 4 #:2,300,000 @ 5 7% :1,500,000 M
B\ BB RESB MK HE BF (F8) 4L (&%) | BBIEG | EOF [SIEH | AR | HE | NG FIB) / BE / £ENS
s — N HEEH 143. —2-2— . . AIRE (EX)
11812 w4 Z—HF—)L 4 6 a0 2(4_3)1 2-2-2-1 37.5| 99.7 4 :1_5;3) B
Lix L THANAN B:UYXH)NaA—X b i e

N i o4 | ERLEHD 2:43.3 5-3-4-3 |37.4| 97.8 | 2 | 460 |FBR (E=)
EE o | ETZRT X)LO— 52.0 (1 1/4) (%) FEHS

L:ECFOVY BEIRIXvON (+10) e}
S 4 6 | SEEA 2:43.3 11-10-10-8 | 36.9 | 97.6 | 3 532 | ETh1EEE (5EiA)
3lgl11| ¥ b/ v—7 [B] 55.0 (7€) (cay | R FPIK—IHN=—
LFA—TANT N BAT T HET7— L
S 3 s 46 | BERS 2:43.3 1-1-1-2 [37.7| 97.9 | 7 454 | BAETF (RH)
4 gl A M¥avhiow 55.0 F4%) (c10) | AL
RiN=—HNE BiHL R —FZ Eafzbie)
I 4 5 | BEERRA 2:43.4 5-9-6-6 |37.3| 96.8 | 5 438 | BETT (FH)
50710 -7~ 54.0 (12 o | @ etr-yoy
LiFq =TT N BURFTZT (B) HAEa-KL—-ra>aEr7r
o4 | BERE 2:43.5 9-7-10-8 | 37.0| 95.7 | 6 478 | ENE (ER)
6 7|/ —FAHNFv—+ 54.0 (3/4) -6) | B HAEL—ZK-X
RiTvREI A BATEU—T—X HET 7 — L
. o EHB— 143, ~10-4— . . REEER (E@)
7156 R—LZEY vy b # 5 =0 (271276) 8-10-4-4 | 37.7| 95.1 | 10 :5:22) %ggy\
T —7TVI>T BTA-TAT1v7 i R

- o4 | PEEX 2:43.9 3-3-3-4 [38.1| 92.6 | 8 488 | BIEEE (FH)
EHB il 53.0 @) g |EEKIE

L:n—E>Yv— BILXRLIN-—F WA #E
=5 = 4t 6 | AL Yazly 2:44.6 3-6-6-6 | 38.5| 86.7 | 1 516 | BERfE— (3ER)
9/5/5 37&"/\_72\/21_1117. o 57.5 @ o Visne
: Ry B:JyF—an YA 745
= S 4 5 | EIIEHF 2:45.0 9-7-8-10 |38.8| 83.4 | 11 | 448 |/IBEZ (i)
10 3| YYT1— F 54.0 (2 1/2) S8
] LYLEUIYRIR BiYw K- ) | ¥arr-u
= o6 | FARHER 2:47.6 5-3-8-11 | 41.4| 66.1 | 12 | 524 |=A&tEsE (KiH)
M1 | TAT1—4 55.0 (Bt e
QO—YXA AL BiTTT—y b O gk am
= s 5 | AEFHT 2:48.0 12-12-12-11| 41.1 | 62.3 | 9 | 458 |FHPHE= (=)
12|7| 9| ¥=—L1 [B] 51.0 2 1/2) Lo | ETER
QRFAT—NE BirqIyFTR 18 | o
@ 71 L
Env 49.9-37.5

NEAZ2A L | 12.9-12.5-13.1-12.7-11.6-12.4-13.2-12.6-12.2-12.4-12.1-12.4-13.0

@ 11— —@EBIRfL

| S=9r= (*4,12) (8,5) (1,2,10)6(3,7)-11-9

AT =7r= (¥4,12) (1,2,8)5(3,7)10(11,6)9

30—+— (¥4,12)8(2,6) (5,10) (1,3) (7,11)-9

40—F— (4,%12)-2(8,6) (5,10) (7,11)3=(9,1)

[ /N

BB 12 7001 | | 71 K 2-12 610/ | | # &= 2-8 700 | | =& | 2-11-12 2,760

7B 12 210 11-12 500 | | & &= 2-12 1,970 | | 3=E | 12-2-11 20,890
2 170M 2-11 530 | | & & 12-2 4,540M
11 170M

ABRICOVTHRTEEERROODE, THEB LS,



